Worksheet Maths 4™ ESO

ALGEBRAIC FRACTIONS 2

Work out and simplify:
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SOLUTION

1.- x*-2x-8=(x+2)(x—-4)— LCF (denominators) = (x +2)(x —4)
2 4  3x-6
x+2 x-4 xX*-2x-8
2(x-4)  4(x+2) 3x-6 B
(x+2)(x-4) (x+2)(x-4) (x+2)x-4)
2x-8-(4x+8)-(3x-6) 2x-8-4x-8-3x+6 -5x+10
) (x+2)(x-4)  (x+2)(x-4)  x*-2x-8

5. (]_gj. X -8x+16)_ x*-16 x*-8x+16 _  (x*-16) x

' x%) X x: X X2 (x*—8x+16)
Factorising polynomials (numerator and denominator):

x(x—-4)x+4) e x+4 X +4
= d l . =

x*(x-4)x-4) and simplifying x(x-4) x*-4x

x°? -4 2x-6 3x*-3 . .
3.- % Bxrb X —xil bxel? factorising all polynomials:
(x-2)(x+2)-2(x-3)-3(x+1)(x-1) x+1

(x-2)x-3)-(x-1)(x-1)-6(x+2) x-1

4.- LCF (denominators) =2(x -2 )(x +2)
X x-2 2 _ x(x+2)  2(x*-2)

2x—-4 X'—4 x+2 2(x-2)x+2) 2(x-2)x+2)
4(x-2) _x*+2x-(2x°-4)+4x-8 _

2(x-2)(x+2) 2(x-2)(x+2)
_ X +2x-2x*+4+4x-8 -x"+6x-4
2(x-2)x+2) 2x% -8

L4 ) xex _(x-141) X ex  x(xP-1)
5'-(] X—]j. xt-1" ( x-1 j xP=1 (x-1)(x*+x)
x(x-1)(x+1) -1

(x-1) x(x+1)

factorising:

x% -9 x4-4 x?+x-6
X2 -Bx+6 x*-4x+4" (x+3)
(x+3)x-3)-(x+2)(x-2) (x-2)(x+3) x+2
(x=2)x-3)-(x-2)x-2)-(x+3)(x+3) x-2

6.-

= factorising all polynomials:




